

Tropical

Tropical Shipping and Construction Company Limited

BILL OF LADING
TSCW13537565

www.tropical.com

SHIPPING

Page 1 of 1

NON-NEGOTIABLE

| | | | | | |
|---|-----------------------------------|---|--|--|---|
| SHIPPER/EXPORTER INI SEAWATER SYSTEMS LLC 4445 SW 35TH TERRACE, STE 200 GAINESVILLE FL 32608 UNITED STATES | | 100986785 | EXPORT REFERENCES 023-1018-001 | EXPRESS RELEASE | |
| CONSIGNEE(NOT NEGOTIABLE UNLESS CONSIGNED TO ORDER) LSJE, LLC 6100 REDHOOK QUARTER CHARLOTTE AMALIE 00802 ST THOMAS, USVI | | 100064506 | FORWARDING AGENT/FMC NO. | | |
| NOTIFY PARTY LSJE, LLC 6100 REDHOOK QUARTER CHARLOTTE AMALIE 00802 ST THOMAS, USVI | | 100064506 | ALSO NOTIFY/ROUTING/INSTRUCTIONS DAPHNE WALLACE | | |
| EXPORTING CARRIER, VOYAGE & EDA DEPARTING: SPICA - 0060 ARRIVING: SPICA - 0060 | | PRE-CARRIAGE BY* | PLACE OF RECEIPT* | PORT OF LOADING PORT OF PALM BEACH SEAPORT | |
| PORT OF DISCHARGE CROWN BAY SEAPORT (ST THOMAS) | | PLACE OF DELIVERY BY ONCARRIER* | POINT AND COUNTRY OF ORIGIN OF GOODS | | |
| PARTICULARS FURNISHED BY SHIPPER | | | | | |
| MARKS & NBR/CONTAINER NBR/ W/SEAL NUMBERS SHIPMENT NO 8145635 TTRU4831279 862381 | NUMBER OF PKGS. 1 1 1 | HAZ | DESCRIPTION OF PACKAGES/GOODS BANDED PALLET(S) WATER PLANT SYSTEM CRATE(S) ADHESIVE BANDED BUNDLE(S) PIPES | GROSS WEIGHT LBS KG 711 323 712 323 711 323 TOTAL 2134 968 | MEASUREMENT CF CM 32.0 0.906 141.0 3.993 62.0 1.756 235.0 6.654 |
| <p>X 2 PAIL(S), 16 LBS, UN1133, ADHESIVES, CLASS 3, PKG GRP II, FLASH POINT -20 C, EMERGENCY PHONE NBR 800-255-3924, EMS SCH F-E,S-D</p> <p>X 1 PAIL(S), 8 LBS, UN1993, FLAMMABLE LIQUID, N.O.S., (ACETONE,TETRAHYDROFURAN), CLASS 3, PKG GRP II, FLASH POINT -20 C, EMERGENCY PHONE NBR 800-255-3924, EMS SCH F-E,S-E</p> | | | | | |
| CLAUSES AES X20190116246222 SHIPPER'S WEIGHT. CARRIER'S CUBE. | | | | | |
| <p style="text-align: center;"><i>ENTERED 02/04/19</i></p> <p style="text-align: center;"><i>All items on site. No damage.</i></p> <p style="text-align: right;"><i>Alphann P... [Signature]</i></p> | | | | | |
| INSURED VALUE \$82,293.64 | | FREIGHT PAYABLE AT/BY ST THOMAS, USVI / LSJE, LLC | | | |
| <small>WHERE APPLICABLE, THESE COMMODITIES, TECHNOLOGY OR SOFTWARE WERE EXPORTED FROM THE UNITED STATES FOR ULTIMATE DESTINATION (ABOVE) IN ACCORDANCE WITH THE EXPORT ADMINISTRATION REGULATIONS, DIVERSION CONTRARY TO U.S. LAW IS PROHIBITED.</small> | | CHARGE DESCRIPTION | | PREPAID (USD) | COLLECT (USD) |
| <small>* APPLICABLE ONLY WHEN UTILIZED FOR COMBINED TRANSPORT</small> | | OCEAN FREIGHT - LCL | | | 444.15 |
| <small>Received by the Carrier from the Shipper in apparent good order and condition (unless otherwise noted herein) the total number or quantity of Containers or other packages or units indicated above received by the Carrier for the Carriage subject to all the terms and conditions of the Carrier from the Place of receipt or the Port of Loading whichever is applicable to the Port of Discharge or the Place of Delivery, whichever is applicable. If the Carrier so requires, before it arranges delivery of the Goods one original Bill of Lading, duly endorsed, must be surrendered by the Merchant to the Carrier at the Port of Discharge or at some other location acceptable to the Carrier. In accepting this bill of Lading Merchant expressly accepts and agrees to all its terms and conditions whether printed, stamped or written, or otherwise incorporated notwithstanding the non-signing of this bill of Lading by the Merchant.</small> | | BILL OF LADING PROCESSING FEE | | | 50.00 |
| <small>IN WITNESS WHEREOF number of original Bills of Lading stated herein have been signed, one of which being accomplished (if so required by the Carrier), the others shall be void.</small> | | SED | | | 45.00 |
| <small>FOR CARRIER</small> | | BUNKER SURCHARGE | | | 98.70 |
| <small>ALL CARRIAGE IS SUBJECT TO THE BOL TERMS AND CONDITIONS, AVAILABLE AT WWW.TROPICAL.COM OR AT CARRIER'S LOCAL OFFICE.</small> | | HAZARDOUS CARGO SURCHARGE | | | 40.00 |
| | | LOW SULFUR FUEL SURCHARGE | | | 21.15 |
| | | SECURITY SURCHARGE | | | 44.65 |
| | | INSURANCE PREMIUM | | | 1,523.00 |
| | | HANDLING | | | 58.75 |
| | | TOTAL USD | | | 2,325.40 |
| | | DATE OF ISSUANCE 01/19/2019 | | NO. OF ORIGINAL B/L(S) SIGNED 0 | VOYAGE DATE 01/18/2019 |

Printed: 01/26/2019 14:05:51

EFTA01223080



COMMERCIAL INVOICE

From:
GEMINI SEAWATER SYSTEMS
 8916 SW 44th LN
 GAINESVILLE, FLORIDA, 32608
 PHONE: [REDACTED]

| | |
|-----------------------|--------------|
| Manufactured: | USA |
| Ultimate Destination: | USA |
| Document Number: | 023-1018-001 |
| Invoice Date: | 1/7/2019 |

| Ship To | Ultimate Destination |
|---|---|
| LSJE, LLC - ST. THOMAS 6100 Red Hook Qtr, B3 St. Thomas USVI 00802 | LSJE, LLC - ST. THOMAS 6100 Red Hook Qtr, B3 St. Thomas USVI 00802 |

| Item | Item Description | QTY | UoM | Mfrd | Unit Price | Amount |
|------|--|-----|-----|------|------------|-------------|
| 1 | 24" X 18" X 36" RECT TANK PE 67 GALL AND COVER | 1 | ea | USA | \$368.62 | \$ 368.62 |
| 2 | MAZZEI 1583-A PP 1.5" NPT INLET 1/2" SUCTION PORT POLY PRO CONST | 1 | ea | USA | \$100.47 | \$ 100.47 |
| 3 | 24" X 18" RECT TANK COVER PE | 1 | ea | USA | \$61.37 | \$ 61.37 |
| 4 | PVC/EPDM TU B VLV 1/2"SXT 230PSI | 2 | ea | USA | \$38.80 | \$ 77.60 |
| 5 | PVC/PP/EPDM 8-FLY VLV 4" LEVER | 8 | ea | USA | \$430.68 | \$ 3,445.41 |
| 6 | PVC SWG CK VLV 4" FLG ASAH | 2 | ea | USA | \$2,221.78 | \$ 4,443.56 |
| 7 | PVC/EPDM Y CK VLV 1/2" SPG GF 192.304.006 | 1 | ea | USA | \$57.74 | \$ 57.74 |
| 8 | PVC/EPDM TU B VLV 1" SXT 230PSI | 1 | ea | USA | \$52.69 | \$ 52.69 |
| 9 | PVC HIGH-QUALITY PIPE N80 1/2" | 20 | ea | USA | \$0.44 | \$ 8.77 |
| 10 | PVC EPDM UNION N80 1/2" S SPEARS 2000-SERIES | 3 | ea | USA | \$3.79 | \$ 11.36 |
| 11 | PVC FEM ADPT RFCD N80 1/2" SPG WITH SS THREADED REINFORCEMENT | 1 | ea | USA | \$3.40 | \$ 3.40 |
| 12 | PVC NIPPLE N80 1/2" X 12" | 1 | ea | USA | \$1.89 | \$ 1.89 |
| 13 | PVC 90° EL N80 1/2" S SPEARS | 8 | ea | USA | \$1.03 | \$ 8.28 |
| 14 | PVC HIGH-QUALITY PIPE N80 1" | 20 | ea | USA | \$0.88 | \$ 17.53 |
| 15 | PVC 90° EL N80 1" S SPEARS | 6 | ea | USA | \$2.14 | \$ 12.83 |
| 16 | PVC TEE N80 1" S SPEARS | 2 | ea | USA | \$3.82 | \$ 7.64 |
| 17 | PVC/VIT UNION N80 1" S SPEARS, 2000-SERIES | 2 | ea | USA | \$5.56 | \$ 11.12 |
| 18 | PVC/NEO TANK ADPT 1" SXT SPEARS | 2 | ea | USA | \$38.03 | \$ 76.06 |
| 19 | PVC/NEO TANK ADPT 1.5"SXT SPEARS | 2 | ea | USA | \$50.27 | \$ 100.54 |
| 20 | PVC HIGH-QUALITY PIPE N80 1.5" | 20 | ea | USA | \$1.37 | \$ 27.35 |
| 21 | PVC 90° EL N80 1.5" S SPEARS | 8 | ea | USA | \$3.05 | \$ 24.41 |
| 22 | PVC EPDM UNION N80 1.5" S SPEARS, 2000-SERIES | 2 | ea | USA | \$12.36 | \$ 24.72 |
| 23 | PVC EPDM UNION N80 1.5" SXT SPEA | 2 | ea | USA | \$20.30 | \$ 40.61 |
| 24 | PVC BUSH N80 2X1.5" SPGXS SPEARS | 2 | ea | USA | \$5.26 | \$ 10.52 |
| 25 | AICKINSTRUT PIPE CLAMP 1/2" | 10 | ea | USA | \$6.35 | \$ 63.47 |
| 26 | AICKINSTRUT PIPE CLAMP 1.5" | 4 | ea | USA | \$8.47 | \$ 33.87 |
| 27 | 1/4" x 1/4" PVC Asahi Labcock Valve FT x FT | 4 | EA | USA | \$18.52 | \$ 74.06 |
| 28 | AICKINSTRUT PIPE CLAMP 1" | 3 | EA | USA | \$7.56 | \$ 22.67 |
| 29 | PVC 45 EL N80 4" S SPEARS | 5 | EA | USA | \$40.06 | \$ 200.32 |
| 30 | PVC 90 EL N80 4" S SPEARS | 4 | EA | USA | \$14.76 | \$ 59.05 |

| Item | Item Description | QTY | UoM | Mfrd | Unit Price | Amount |
|------|--|-----|-----|------|------------|-------------|
| 31 | PVC 90 EL N80 6" S SPEARS | 4 | EA | USA | \$41.99 | \$ 167.97 |
| 32 | PVC 90 EL N80 8" S SPEARS | 1 | EA | USA | \$115.72 | \$ 115.72 |
| 33 | PVC TEE N80 6" S SPEARS | 1 | EA | USA | \$70.61 | \$ 70.61 |
| 34 | PVC TEE N80 6X6X4" S SPEARS MOLDED | 2 | EA | USA | \$70.61 | \$ 141.22 |
| 35 | PVC TEE N80 8X8X4" S SPEARS | 4 | EA | USA | \$191.19 | \$ 764.74 |
| 36 | PVC CROSS F80 8" S FABRICATED | 1 | EA | USA | \$771.14 | \$ 771.14 |
| 37 | PVC CPLG N80 6" S SPEARS | 1 | EA | USA | \$34.96 | \$ 34.96 |
| 38 | PVC CPLG N80 8" S SPEARS | 1 | EA | USA | \$47.59 | \$ 47.59 |
| 39 | PVC VAN STONE FLG N80 2.5" S SPE | 2 | EA | USA | \$14.57 | \$ 29.14 |
| 40 | PVC VAN STONE FLG N80 3" S SPEAR | 2 | EA | USA | \$16.10 | \$ 32.19 |
| 41 | PVC VAN STONE FLG N80 4" S SPEAR | 24 | EA | USA | \$20.36 | \$ 488.55 |
| 42 | PVC VAN STONE FLG N80 6" S SPEAR GLASS FILLED RING | 3 | EA | USA | \$32.03 | \$ 96.10 |
| 43 | PVC CAP N80 8" S SPEARS | 2 | EA | USA | \$105.13 | \$ 210.26 |
| 44 | PVC BUSH N80 2X1/2" SPGXT SPEARS | 2 | EA | USA | \$5.38 | \$ 10.77 |
| 45 | PVC BUSH N80 4X2" SPGXS SPEARS | 2 | EA | USA | \$20.06 | \$ 40.12 |
| 46 | PVC BUSH N80 4"X2.5"SPGXS SPEARS | 2 | EA | USA | \$20.06 | \$ 40.12 |
| 47 | PVC BUSH N80 6X4" SPGXS SPEARS | 2 | EA | USA | \$27.90 | \$ 55.79 |
| 48 | PVC BUSH N80 8"X4" SPGXS SPEARS | 1 | EA | USA | \$67.87 | \$ 67.87 |
| 49 | PVC ECC CPLG F80 4X3" SXS | 2 | EA | USA | \$67.84 | \$ 135.67 |
| 50 | PVC HIGH-QUALITY PIPE N80 2.5" | 20 | EA | USA | \$3.19 | \$ 63.82 |
| 51 | PVC HIGH-QUALITY PIPE N80 3" | 20 | EA | USA | \$3.91 | \$ 78.20 |
| 52 | PVC HIGH-QUALITY PIPE N80 4" | 40 | EA | USA | \$5.63 | \$ 225.13 |
| 53 | PVC HIGH-QUALITY PIPE N80 6" | 40 | FT | USA | \$10.87 | \$ 434.83 |
| 54 | PVC HIGH-QUALITY PIPE N80 8" | 20 | FT | USA | \$16.34 | \$ 326.82 |
| 55 | NEO FLG GSK FLT 2.5" | 2 | FT | USA | \$3.23 | \$ 6.45 |
| 56 | NEO FLG GSK FLT 3" | 2 | FT | USA | \$4.35 | \$ 8.70 |
| 57 | NEO FLG GSK FLT 4" 150# 1/8" THK | 12 | FT | USA | \$6.00 | \$ 71.96 |
| 58 | NEO FLG GSK FLT 6" | 1 | EA | USA | \$9.06 | \$ 9.06 |
| 59 | PVC CEMENT GAL GRV 711 | 1 | EA | USA | \$131.71 | \$ 131.71 |
| 60 | PVC/CPVC PRIMER GAL CLR P70 | 1 | EA | USA | \$113.78 | \$ 113.78 |
| 61 | QT APPL CTN SWAP 4" FOR 3" - 8" | 12 | EA | USA | \$13.41 | \$ 160.96 |
| 62 | GAL APPL 7" RLR | 6 | EA | USA | \$16.76 | \$ 100.57 |
| 63 | QT APPL 1.5" DAUBER | 12 | EA | USA | \$1.17 | \$ 14.10 |
| 64 | EZW EMPTY QT CAN | 8 | EA | USA | \$2.77 | \$ 22.16 |
| 65 | 316SS FLG X BFV BOLT PACK 4" | 8 | EA | USA | \$44.24 | \$ 353.90 |
| 66 | 316SS FLG BOLT PACK 4" | 8 | EA | USA | \$34.79 | \$ 278.29 |
| 67 | 316SS FLG BOLT PACK 6" | 1 | EA | USA | \$58.39 | \$ 58.39 |
| 68 | 316SS FLG BOLT PACK 3" | 2 | EA | USA | \$17.34 | \$ 34.68 |
| 69 | 316SS FLG BOLT PACK 2.5"-3" | 2 | EA | USA | \$17.34 | \$ 34.68 |
| 70 | FC-202P11KT4E66H1XGX3SX5XXXAXBCXXXDX - VLT* AQUA DRIVE FC 200 11 KW / 15 HP, 380 - 480 VAC, Three phase, IP66 / NEMA 4X, Mains Disconnect + Fuse, Graphical Loc. Cont. Panel, RFI Class A1/B (C1),Not coated PCB, No A Option, No B Option, No C1 option, No D option, Smooth imperial cable entr. No adaptation, No brake chopper, FRAME SIZE: B1 | 2 | ea | USA | \$3,407.32 | \$ 6,814.65 |
| 71 | FRP basket strainer; clear acrylic lid; 4" 150 Lbs Flanged inlet and outlet; 2205 Duplex stainless basket | 4 | ea | USA | \$2,461.71 | \$ 9,846.83 |
| 72 | Spare basket for 4x4 FO strainer, 2205 Duplex | 4 | ea | USA | \$703.09 | \$ 2,812.38 |

| Item | Item Description | QTY | UoM | Mfrd | Unit Price | Amount |
|------|---|-----|------------------|------|-------------|--------------|
| 73 | Pump Assembly ZCH2 3 x 2-1/2 with 6-1/2" Impeller, 2205 Duplex SSSL Wetted End, with Type 21 Mechanical Seal, 1-5/8, TC/SC/BU and 316SS METALLICS. Motor Part No. GM5G17332 15HP, 254JM, CI, TE, 3500RPM 3PH, 60HZ, 230-460V, PREM EFF Vertical Discharge | 2 | ea | USA | \$10,551.15 | \$ 21,102.30 |
| 74 | Mechanical seal kit, Mechanical seal (Type 21, 1-5/8, TC/SC/BU and 316SS Metallics), casing gasket, impeller screw o-ring / gasket, and shaft sleeve o-ring(s). | 2 | ea | USA | \$691.79 | \$ 1,383.57 |
| 75 | 316 Stainless Steel Button Head Hex Drive Screw Super-Corrosion-Resistant, 10-24 Thread Size, 1-1/2" Long | 1 | Pack of 25 each | USA | \$14.54 | \$ 14.54 |
| 76 | 316 Stainless Steel Screw for Plywood and OSB Rounded Head, Number 10 Size, 1-1/2" Long | 1 | Pack of 50 each | USA | \$23.02 | \$ 23.02 |
| 77 | Super-Corrosion-Resistant 316 Stainless Steel Hex Nut 10-24 Thread Size | 1 | Pack of 100 each | USA | \$12.78 | \$ 12.78 |
| 78 | 316 Stainless Steel Washer for Number 10 Screw Size, 0.203" ID, 0.438" OD | 1 | Pack of 100 each | USA | \$7.43 | \$ 7.43 |
| 79 | 316 Stainless Steel Washer for 1/4" Screw Size, 0.281" ID, 0.625" OD | 1 | Pack of 100 each | USA | \$14.47 | \$ 14.47 |
| 80 | 316 Stainless Steel Washer for 5/16" Screw Size, 0.344" ID, 0.75" OD | 1 | Pack of 100 each | USA | \$18.04 | \$ 18.04 |
| 81 | 316 Stainless Steel Washer for 3/8" Screw Size, 0.406" ID, 0.75" OD | 1 | Pack of 25 each | USA | \$15.43 | \$ 15.43 |
| 82 | 316 Stainless Steel Nylon-Insert Locknut Super-Corrosion-Resistant, 1/4"-20 Thread Size | 1 | Pack of 50 each | USA | \$12.05 | \$ 12.05 |
| 83 | 316 Stainless Steel Nylon-Insert Locknut Super-Corrosion-Resistant, 5/16"-18 Thread Size | 1 | Pack of 50 each | USA | \$16.01 | \$ 16.01 |
| 84 | 316 Stainless Steel Split Lock Washer for Number 10 Screw Size, 0.2" ID, 0.334" OD | 1 | Pack of 100 each | USA | \$5.59 | \$ 5.59 |
| 85 | Super-Corrosion-Resistant 316 Stainless Steel Hex Head Screw 1/4"-20 Thread Size, 1-1/2" Long, Fully Threaded | 1 | Pack of 10 each | USA | \$7.75 | \$ 7.75 |
| 86 | Super-Corrosion-Resistant 316 Stainless Steel Hex Head Screw 5/16"-18 Thread Size, 2-1/2" Long, Fully Threaded | 5 | Packs of 5 each | USA | \$9.91 | \$ 49.53 |
| 87 | Super-Corrosion-Resistant 316 Stainless Steel Hex Head Screw 5/16"-18 Thread Size, 2-1/2" Long, Partially Threaded | 10 | Packs of 5 each | USA | \$6.52 | \$ 65.22 |
| 88 | Corrosion-Resistant 316 Stainless Steel Hex Head Screw for Wood 5/16" Size, 1-1/2" Long | 1 | Pack of 10 each | USA | \$16.80 | \$ 16.80 |
| 89 | Corrosion-Resistant 316 Stainless Steel Hex Head Screw for Wood 3/8" Size, 1-1/2" Long | 1 | Pack of 10 each | USA | \$22.55 | \$ 22.55 |
| 90 | 316 Stainless Steel Stud Anchor for Concrete 3/8" Diameter, 3-3/4" Long | 2 | Packs of 20 each | USA | \$146.56 | \$ 293.13 |
| 91 | 316 Stainless Steel U-Bolt 3/8"-16 Thread Size, 4-5/8" ID | 2 | Each | USA | \$20.72 | \$ 41.45 |

| Item | Item Description | QTY | UoM | Mfrd | Unit Price | Amount |
|------|--|-----|------------------|------|------------|-------------|
| 92 | Twist-Resistant Plastic Anchors for Block & Brick 1-1/2" Long | 1 | Pack of 100 each | USA | \$19.18 | \$ 19.18 |
| 93 | Twist-Resistant Plastic Anchors for Block & Brick 2" Long | 1 | Pack of 50 each | USA | \$22.85 | \$ 22.85 |
| 94 | Fuji Electric molded case circuit breaker, BW125 series, 90A, 600 VAC / 250 VDC, 3-pole, thermal magnetic, 30kA SCCR, 125A frame, panel mount. Line and load lug terminals and terminal covers included. | 1 | ea | USA | \$329.19 | \$ 329.19 |
| 95 | Fuji Electric molded case circuit breaker, BW125 series, 40A, 600 VAC / 250 VDC, 3-pole, thermal magnetic, 30kA SCCR, 125A frame, panel mount. Line and load lug terminals and terminal covers included. | 2 | ea | USA | \$329.19 | \$ 658.38 |
| 96 | Eaton miniature supplementary protector, 10A, 277 VAC / 48 VDC, 1-pole, C curve, thermal magnetic, 10kA SCCR, 35mm DIN rail mount. | 1 | ea | USA | \$16.66 | \$ 16.66 |
| 97 | Eaton miniature circuit breaker, current-limiting, 1A, 480Y / 277 VAC / 96 VDC, 3-pole, C curve, thermal magnetic, 10kA SCCR, 35mm DIN rail mount. | 1 | ea | USA | \$100.38 | \$ 100.38 |
| 98 | Fuji Electric molded case circuit breaker, BW125 series, 15A, 600 VAC / 250 VDC, 3-pole, thermal magnetic, 30kA SCCR, 125A frame, panel mount. Line and load lug terminals and terminal covers included | 1 | ea | USA | \$64.87 | \$ 64.87 |
| 99 | Hubbell-Wiegmann Control series enclosure, NEMA 1/3/3R/4X/12, 24 x 24 x 10in (HxWxD), wall mount, fiberglass reinforced polyester, gray, single-door, (4) twist-lock latches, padlock hasp and staple. | 1 | ea | USA | \$1,043.24 | \$ 1,043.24 |
| 100 | Fuji Electric handle, rotary, black, external front mount, 2-position, lockable in OFF only, defeatable, NEMA 12. For use with Fuji Electric BW125 series MCCBs. 0.4in shaft and operator included. | 1 | ea | USA | \$81.53 | \$ 81.53 |
| 101 | Fuji Electric shaft, 24in length. For use with BW9V0CA and BW9V0GA rotary disconnect handles. | 1 | ea | USA | \$52.60 | \$ 52.60 |
| 102 | DL205 I/O base, 6-slot, DIN rail or panel mount, external 110-220 VAC required. 24 VDC 300mA isolated auxiliary output power included. | 1 | ea | USA | \$308.59 | \$ 308.59 |
| 103 | DL205 analog input module, 4-channel, current, 12-bit, input current signal range(s) of 4-20 mA, external 24 VDC required. | 1 | ea | USA | \$362.94 | \$ 362.94 |
| 104 | DL205 analog output module, 2-channel, current, 12-bit, output current signal range(s) of 4-20 mA, external 24 VDC required. | 1 | ea | USA | \$284.04 | \$ 284.04 |
| 105 | DL205 discrete input module, 8-point, 12-24 VDC, sinking/sourcing, 1 common(s), 8 point(s) per common. Removable terminal block included. | 1 | ea | USA | \$96.43 | \$ 96.43 |

| Item | Item Description | QTY | UoM | Mfrd | Unit Price | Amount |
|------|---|-----|-----|------|------------|-------------|
| 106 | DL205 relay output module, 8-point, 12-24 VDC/12-240 VAC, (5) Form A, (3) Form C, 8 isolated common(s), 1 point(s) per common, 7A/point max. Removable terminal block included. | 1 | ea | USA | \$180.60 | \$ 180.60 |
| 107 | RHINO switching power supply, 24 VDC (adjustable) output, 2.5A, 60W, 120/240 VAC or 120-375 VDC nominal input, 1-phase, plastic housing, IP20, 35mm DIN rail mount, screw terminals. | 1 | ea | USA | \$49.09 | \$ 49.09 |
| 108 | Hammond control transformer, 500 VA, 1-phase, 240/480 VAC primary, 120/240 VAC secondary, 50/60 Hz, panel mount. | 1 | ea | USA | \$208.65 | \$ 208.65 |
| 109 | Hammond control transformer, 750 VA, 1-phase, 240/480 VAC primary, 120/240 VAC secondary, 50/60 Hz, panel mount. | 1 | ea | USA | \$289.30 | \$ 289.30 |
| 110 | ProSense float liquid level tilt switch, suspendible/submersible mount, EPDM rubber oval float, mercury-free SPDT switch. | 1 | ea | USA | \$59.61 | \$ 59.61 |
| 111 | Southwire instrumentation cable, Type PLTC, Type ITC, 300V, 4 twisted pairs, 18 AWG, PVC conductor insulation material, black and white numbered pairs, overall shielded, PVC jacket, black, cut to length. | 50 | ft | USA | \$1.49 | \$ 74.52 |
| 112 | Fuji Electric auxiliary contact, front mount, (2) N.O./2) N.C. contact(s), 10A @ 600 VAC | 1 | ea | USA | \$23.67 | \$ 23.67 |
| 113 | Fuji Electric IEC contactor, 12A, (3) N.O. power poles, 120 VAC (60Hz)/110 VAC (50Hz) coil voltage. | 1 | ea | USA | \$35.94 | \$ 35.94 |
| 114 | Selector switch, 22mm, 3-position, maintained, (2) N.O./2) N.C. contact(s), plastic base, plastic bezel, Operator: black, knob, 30mm, round, plastic. | 1 | ea | USA | \$25.42 | \$ 25.42 |
| 115 | Iboco T1E series open slot thin finger wire duct, 1in width, 3in height, 6.5ft/2m length, gray. Cover included. | 4 | ea | USA | \$37.70 | \$ 150.79 |
| 116 | H-D STV100K-48D 480VAC 3-WIRE | 1 | ea | USA | \$1,074.93 | \$ 1,074.93 |
| 117 | H-D STV25K-10S 120VASEE | 1 | ea | USA | \$362.33 | \$ 362.33 |
| 118 | Shroud, Ylw, Split For Use W/ 40mm Mushroom Operator Accepts 22mm Bezel Pushbutton | 1 | ea | USA | \$25.09 | \$ 25.09 |
| 119 | LTR Pushbutton, Red, 40mm Mush, 2NC Non-III, 22mm Mounting, Touch-safe, 2NC Contact Blocks, Blk Nylon Bezel | 1 | ea | USA | \$51.13 | \$ 51.13 |
| 120 | Electromechanical Relay 120VAC 6A SPDT(6.4x88x90)mm DIN Rail Module Relay | 10 | ea | USA | \$39.31 | \$ 393.10 |
| 121 | Electromechanical Relay 24VDC 1.2KOhm 8A DPDT(12.8x87.8x90.5)mm DIN Rail Module Relay | 10 | ea | USA | \$26.72 | \$ 267.21 |
| 122 | Isolated DC I/O Module | 2 | ea | USA | \$226.18 | \$ 452.36 |
| 123 | 1/2 HP Electric Submersible | 1 | ea | USA | \$1,611.66 | \$ 1,611.66 |
| 124 | Gray Cord Grips 1/2" NPT | 5 | ea | USA | \$4.73 | \$ 23.67 |
| 125 | Non-Metallic Flexible Conduit 1" dia. Carflex Liquidtight 100' Coil | 50 | ft | USA | \$1.67 | \$ 83.28 |

| Item | Item Description | QTY | UoM | Mfrd | Unit Price | Amount |
|--------------|--|-----|-----|------|------------|---------------------|
| 126 | 90 Degree Elbow Sch 40 (NPT x Liquidtight) 1" dia. (NPT x Liquidtight) | 10 | ea | USA | \$8.24 | \$ 82.41 |
| 127 | Straight Sch 40 (NPT x Liquidtight) 1" dia. (NPT x Liquidtight) | 10 | ea | USA | \$4.59 | \$ 45.94 |
| 128 | Black Plastic Electric Tape Size 3/4 " | 10 | ea | USA | \$1.75 | \$ 17.53 |
| 129 | VFD cable, 12 AWG 3C + GND, Cross Linked Polyolefin Insulation, PVC Outer jacket, with Tined Copper Outer Shield | 75 | ft | USA | \$6.14 | \$ 460.26 |
| 130 | Non-metallic Conduit (Bell x Straight)(10 ft.) 1" dia. Bell x Straight | 40 | ft | USA | \$0.61 | \$ 24.55 |
| 131 | 90 Degree Elbow Sch 40 (Bell x Straight) 1" dia. | 6 | ea | USA | \$2.10 | \$ 12.62 |
| 132 | Couplings 1" dia. | 5 | ea | USA | \$0.44 | \$ 2.19 |
| 133 | Locknuts PVC 1" | 10 | ea | USA | \$1.67 | \$ 16.66 |
| 134 | Non-Metallic Flexible Conduit 1/2" dia. Carflex Liquidtight 100' Coil | 15 | ft | USA | \$0.74 | \$ 11.05 |
| 135 | Male Adapters 1" dia. | 10 | ea | USA | \$0.84 | \$ 8.42 |
| 136 | Threaded Adapter - 1/2" - fits 3/4" sockets - MINIMUM QTY 25 | 25 | ea | USA | \$2.44 | \$ 60.93 |
| 137 | Reducer Bushings (SP X S) 3/4" X 1/2" dia. | 10 | ea | USA | \$1.72 | \$ 17.18 |
| 138 | LB Conduit Body (Opening on Bottom) 1" dia. | 6 | ea | USA | \$5.52 | \$ 33.14 |
| 139 | LR Conduit Body (Opening on Left) 1" dia. | 6 | ea | USA | \$6.52 | \$ 39.13 |
| 140 | LL Conduit Body (Opening on Right) 1" dia. | 6 | ea | USA | \$6.52 | \$ 39.13 |
| 141 | Type T Conduit Body (T Shaped Box) 1" dia. | 4 | ea | USA | \$7.28 | \$ 29.11 |
| 142 | Non-metallic Conduit (Bell x Straight)(10 ft.) 1.5" dia. Bell x Straight | 40 | ft | USA | \$1.05 | \$ 42.08 |
| 143 | Reducer Bushings (SP X S) 1-1/2" X 1" | 6 | ea | USA | \$5.52 | \$ 33.14 |
| 144 | 90 Degree Elbow Sch 40 (Bell x Straight) 1-1/2" dia. | 4 | ea | USA | \$4.73 | \$ 18.94 |
| 145 | Female Adapters 1" dia. | 6 | ea | USA | \$0.96 | \$ 5.79 |
| TOTAL | | | | | | \$ 67,775.63 |

These commodities, technology, or software were manufactured, assembled, and exported from the United States in accordance with the Export Administration Regulations. Diversion contrary to U.S. law prohibited. These items are licensed for the ultimate destination shown. I do declare that the above items are true and correct to the best of my knowledge and information.



Dean Bedford
Gemini Seawater Systems LLC